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Class person
public pname , paddress as string

-------------

End class



Class student
inherits person // «lyell alo>
dim degree as integer
public sub setdg(x as integer) yoldl i)l @usi) al>
degree=x W syl sliwil yo Y
end sub
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End class

Sub main ()

dim p as new person()

p.pname="waleed” : p.paddress="damam”

dim st as new student() s degree o)
st.setdg(100) Al JM> o Ao Jolriid
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st.paddress=".......

--------
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Class employee
| private name as string
private age as integer
. private salary as decimal
| public sub setdata(x as string,y as integer , z as decimal)
name=x : age=y : salary=z
end sub
public function getname() as string
return name
end function
public function getage() as integer
return age
end function
public function calculatetax() as decimal
return salary*o.1
end function
public function calculatesal() as decimal
return salary- (calculatetax())
end function



Public sub new (x as string,y as integer
, Z as decimal)
i name=x : age=y : salary=z
| end sub
. End class
| Public class manger
inherits employee
dim deptno as integer
dim bonus as double
public property no() as integer
get
return deptno
end get
set .............
end property
public property bon() as integer
et
7 return bonus
end get
set .............
end property




Public sub hire(n as string)

msgbox(“yasi pi"&n)
End sub

Public sub fire(n as string)
msgbox(“Juad pi“&n)
End sub
fmf class
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Dim emp as new employee
Dim man as new manger

--------------
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Dim emp(10) as employee // Ui\S adga00 emp
| Dim count as integer

] << JoVI| =l Lo,
' Count=0

tq.text="" : tr.text=emp(count).name
t2.text=emp(count).age : t3.text=emp(count).calculatesal ()

Il 25>
If count<emp.length-1 then count+=1 else exit sub

tq.text="" t1.text=emp(count).name
t2.text=emp(count).age

t3. text=emp(count).ca[cu[c;tesa[ ()

lllllll

[l 2> albgo ) )
If count>emp.length-1 then count=0 : exit sub

emp(count)=new emdp[oyee // 89es.a0ll 09 Sl sl o>
tr.text="": t2.text=""": t3.text="" : tqg.text=""



/] ba> ,;
emp(count.name)=t1.text
emp(count.age)=t2.text

_ emp(count.salary)=t3.text
| Count+=1

/<51l sdle
If count=o0 )i‘ﬁen

t4.text=emp(count).calculatesal()
Else if count>o0 then

t4.text=emp(count-1).calculatesal()
End if
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Public mustinherit class worker

-------

End class



Dim w as new worker() // o> b 8o worker Jolai ¥ Uas
Public class technicalworker Qi &, lgiall 2o Jolais

inherits worker
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Public notinheritable class employee

End class
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‘PuE[ic notinheritable class manager

- End class

Tuﬁ[w class employee
inherits manager // o>
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Public class one
public overridable sub say()
msgbox(“this msg from base class one”)
end sub
-End class
Public class two
inherits one
public overrides sub say()
msgbox(“this msg from derived class two")
end sub
End class

Dim a as new one()
Dim b as new two()

a.say() // JoVl &Lyl yo)=i
b.say() // asll dlw)ll o)=i
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Public class employee
~ public overridable function calculatesalary()
- return salary-(calculatetax())

- end function

End class

Public class manager
inherits employee
public overrides function calculatesalary()

return MyBase. calculatesalary()+bouns // MyBase oVl aliasll  sisi

end function

End class



